Intermediate Algebra 8th per Test 1 Solutions

1. gRatinnal numbers @

2. N Identity equation
3. E Additive identity
4. ;Multiplicative inverse of a

number a

5. ’ Integers Z

6. ‘g Relative complement of sets
A/Bor A—B

7. imple interest formula

8. :l Union of sets AUB

9. @ultiplicative identity
10. i Natural Numbers N

11¢H Additive inverse of anumber a

12.AMutiun formula
13. ‘ Cgmmutative Property

1EDistributive Property

IE.MCnnditinnal equation
16. Kntersaﬁtiun of sets ANB

17. Qa\l numbers R
18, Contradiction equation
19. Associative Property

20. Irrational numbers

Distance = ratextime

Interest earned = principal investmentx interest rate
at+b=b+a

D. a+(b+e)=(a+b)+c

a(b+c)=ab+ ac

1
T~
\1 Ja
#~T The set of all elements that are in either A or B
-
(The setof all elements thatare in both A ggd B
S==T™The set of all elements thatare in A but notin B
& True for only some instances of the variable
s=Always true for all instances of the variable
Ner true for any instance of the variable
““P™~Fag set of counting numbers
SQ__The set of all numbers that can be written as a
decimal
oBe= The set of all numbers that can be written as fractions
w set of all non-terminating, non-repeating
decimals
N"he set of all positive, zero, and negative whole

numbers

Il Translate the verbal expression into avariable expression in terms of a single variable. Do not simplify.

21. The total n(welve timesa numbe}l{three less than the number. >

I2n+n->

22. Twice the difference betweel four more than twicea numbe}nﬁne more than the numbe)

2[4+ — (n+1)

Il Write a linear (single variable) equation to describe the word pmblem

23. Find three consecutive odd integers such that twice the difference between the first and third is 19 less

than the second. > >X~I 2 _,X"I'

2| x— (X+‘r\;‘: Yt 2 fﬂ)

24. 50 pounds of delicious Jamaican Blue Mountain coffee that costs $28 per pound are mixed with Fakin' Blue
—

Discount Coffee that costs $4 per pound. How much Fakin’ Blue is needed to make a coffee blend that costs

$15 per pound?

TeM 2% 50 2%
RO X AR
blerd 3 )= S gax \‘5@"9

R%(53) T4x = [5 (So\+><J
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IV.  Simplify the expression.

25.5—[2n—2(3n+1)]

25 -[an— bn '2] =5-[-4n —2]
=5+4n+2 :[ 2 +4n 2

26. |-5+3| = |-1| + (-9)(5)
= Fal-[-1] +(-20)

-271-20-01]

V. Solvethelineare

27.5(2 —x) =1 — 2[x — 3(x + 2)] — 5)(._ 4 X = \?7—‘0
10-Ox = |- [x=3x~6 | —9x =5

10-5x=1-2E2x 6] A
-yt 2 h T )
10-9x=Fx+13

—_—
x 9
VI. Giventhe sets A, B, and C (and all the usual sets listed on the first page), determine the following unions,

intersections, and relative complements. Give the answer in the simplest form possible.

15
A-(12345B={-2-12.2.356}.c= (-5 n)

29. AUN = N 3LA-B = 3\)2)&§
30.CNQ = ¢ 32.BUR — &

Vil.  Solve the linear inequality. Give the solution inyour choice of interval or set-builder notation.

Wgnze-s x|z

-2XE
Xsia 272

34. 10x —10 > 7x + 5

Ox-F5>S+/0 [7L74\7<>6‘%

3>Z<>§IS (5,00)



Intermediate Algebra 8th per Test 1 Solutions September 04, 2013

Vill.  Graph the compound inequality on the number line, and give the solution in your choice of notation.

3b.x<3 or x=-5 37.x< 2 and x = —3

m W [3 Q)
22 (oD * 32

36. x>4 or x =2 38.x>1and x<= —4




	Page 1
	Page 2
	Page 3

